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Mmmmmcorpu:anyoummukofldenﬁﬁcmlon anywhere in the OMR Response
M IF ANY MARK OF IDENTIFICATIONS IS DISCOVERED ANYWHERE IN OMR
RESPONSE SHEET. the OMR sheet will be cancelled, and will not be evaluated.

‘I'&Quemoa Booklet contains the cover page and a total of 170 Multiple Choice Questions of 1
mark each,

Space for rough work has been provided at the beginning and end. Available space on each page may
also be used for rough work.

There is negative marking in Multiple Choice Questions. For each wrong answer, 0.25 marks will be
deducted.

USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone, iPad, pager
ETC. is strictly PROHIBITED.

Candidate should check the serial order of questions at the beginning of the test, If any question is
found missing in the senal order, it should be immediately brought 10 the notice of the Invigilator. No
pages should be torn out from this question booklet.

Answers must be marked in the OMR Response sheet which is provided separately. OMR Response
sheet must be handed over 1o the invigilator before you leave the seat,

The OMR Response sheet should not be folded or wnnkled The folded or wrinkled OMR/Résponse
Shect will not be evaluated.

Write your Roll Number in the appropriate space (above) and on the OMR Response Sheet, Any
other details, if asked for, should be written only in the space provided.

There are four options to cach question marked A, B, C and D. Select one of the most appropriate
options and fill up the corresponding oval/circle in the OMR Response Sheet provided 1o you. The
correct procedure for filling up the OMR Response Sheet is mentioned below.
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been no reconnaissance. In 1770 Captain James Cook had made lanc

4 unexplored east coast of this utterly enigmatic continent, stopped for a sheﬂwhﬂe
| ‘at a place named Botany Bay and gone north again. Since then, no ship had called
for not a word, not an observation, for 17 years, each one of which was exactly
like the thousands that had preceded it, locked in its historical immensity of blue

heat. blush, sandstone and the measured booming of glassy pacific rollers.

Now, this coast was to witness a new colonial experiment, never tried before, not
repeated since. An unexplored continent would become a jail. The space around
3 it, the very air and sea, the whole transparent labyrinth of the South pacific, would

become a wall 14,000 miles thick.
The late 18" century abounded in schemes of social goodness thrown off by its

: 'bufgeomng sense of revolution. But here, the process was to be reversed: not

»




1e criminal class, whose existence was one of the prime
ociolc sal beliefs of late Georgia n and early Victoria n England. Australia
settled to defend English property not from the frog-eating invader across the

Channel but from the marauder within. English lawmakers wished not only to get.

i rid of the Criminal class but if possible to forget about it. Australia was a Cloaca,

invisible, its contents filthy and unnamable. W |

To most Englishmen this place seemed not just a mutant society but another
planet-an exiled world, summed up in its popular name, Botany Bay. It was
remote and anomalous 1o its white creators. It was strange but close, as the
unconscious to the conscious mind. There was as yet no such thing as Australia n
history or culture. For its first forty years, everything that happened in the thief-

colony was English. I n the whole period of convict transportation, the Crown

shipped more than 160,000 men, women and children (due to defects in the

4]
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le fresco of repression, the Gulag. No other country had suchs
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fleet of eleven vessels carrying 1,030 people, including 548 male and l:s,s:;.!'f n

convicts. under the command of captain Arthur Phillip in his flagship Sirius, !

entered Port Jackson or, as it would presently be called, Sydney Harbor.

e |

1.  When the author refers to "the marauder within", he is referring to:-

A. the working class B. the lower class

D. the Loch Ness monster

A .

C. the criminal class

According to the passage. the intellectual mentors of Australia could be-

A. Hobbes and Cook B. Hobbes and Sade

C. Phillip and Jackson D. Sade and Phillip
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4. Elsewhere. according to the author, the late eighteenth century saw

1l
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A. moral grace B. social welfare programs

C. free social contracts D. Social repression

5. The word sanguine means-
A.  wise
B. pessimistic
the rise of the criminal class” and its impact on the life of Georgian
England

confident
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m >stablishment of Australia as a penal colony

One of the hallmarks of the late Georgian and carly Victorian England was
the belief in- ]

A.  repression of the criminal class

B.  Convict transportation

0

colonization as a solution to social problems

o

the existence of a criminal” class of people

8.  What is penology?

A. The study of transportation of criminals

B. The study of punishment in its relation to crime
C.  The study of pens
D. The study of ink flow of pens



The author implies that while Rousseau was vindicated in the
functioning of the society of Tahiti, the process in Australia presented

‘a contrary picture

1 D. All are true
10. Sydney Harbor was earlier known as-

A. Port Jackson B. Botany Bay f

C. Storm Bay D. Norfolk Bay
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mﬁwm and largely the subject of a number -Qt’ nemorak
A. Contemplating whether to exist

B.  Combining realistic detail
C.  Miscegenating a brilliant mind
D.  Aware that he had been born
12. How many times have 1 asked myself: when is the world going to start to

make sense? There is a monster out there. and it is rushing towards me over

the uneven ground of consciousness.

A. There is a monster out there

B It is as il the world is on my shoulders
C. The answer is out there somewhere

There is a sea of sensibility in me
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/At the heart of the enormous boom in wine consumption that has taken

the English-speaking world over the last two decades or so is a fascinating, happy

paradox. In the days when wine was exclusively the preserve of a narrow cultural
elite, bought either at auctions or from gentleman wine merchants in wing collars :
and bow-ties, to be stored in rambling cellars and decanted to order by one's
butler. the ordinary drinker didn't get a look-in. Win e was considered a highly

technical subject, in which anybody without the necessary ability could only fall

flat on his or her face in embarrassment. | t wasn't just that you nceded a refined
aesthetic sensibility for the swufl if it was not to be hopelessly wasted on you. It
required an intimate knowledge of what came from where, and what it was_.:‘:
supposed to taste like. Those were times, however, when wine appreciation

(10}
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we:wleabieon our market. When a supermarket offers its cusmmersar CO u-'“‘i
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fruity little numbers from Brazil, we scarcely raise an eyebrow. It seems, in other

uZ

words, that the commercial jungle that wine has now become has not inﬂ;e
slightest deterred people from plunging adventurously into the thickets in order to
taste and see. Consumers are no longer intimidated by the thought of needing to

know their Pouilly-Fume from their Pouilly-Fuisse, just at the very moment when
there is more to know than ever before. The reason for this new mood of
confidence is not hard to find . I t is on every wine label from Australia, New
Zealand, South Africa and the United States: the name of the grape from which
the wine is made. At one time that might have sounded like a fairly technical

approach in itself. Why should native English-speakers know what Cabernet

~ Sauvignon or Chardonnay were? The answer lies in the popularity that wines
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 Australia (what French winemaker will ever admit that?) but because they don

1
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traditio nally call their wines Cabernet Sauvignon or Chardonnay. They call them 3
Chateau Ducru —Beaucaillou or Corton -Charlemagne, and they aren't about to
change. Some areas. in the middle of southern France. have now produced a
generation of growers using the varietal names on their labels and are tempting
consumers back to French wine. It will be an uphill struggle, but there is probably
no other way if France is to avoid simply becoming a specialty source of old-
fashioned wines for old- fashioned connoisseurs. Wine consumption was also
given a significant boost in the early 1990s by the work of Dr. Serge Renaud, who
has spent many years investigating the reasons for the uncannily low incidence of
coronary heart disease in the south of France. One of his major findings is that the
fat-derived cholesterol that builds up in the arteries and can eventually lead to

heart trouble can be dispersed by the tannins in wine. Tannin is derived from the

skins of grapes, and is therefore present in higher levels in red wines, because
they have to be infusecf with their sKins to attain the red colour. That news caused

[12]
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I5. The tone that the author uses while asking “what French winemaker will

ever admit that?™ is best describe as d
A.  caustic B. satirical

C.  eritical D.  hypocritical

16. What according to the author should the French do to avoid becoming a
producer of merely old- fashioned wines?

A. Follow the labeling strategy of the English-speaking countries

B. Give their wines English names,
C. Introduce fruity wines as Brazil has done
D. Produce the wines that have become popular in the English-

world
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ation of local winegrowers who use Tabels; that s

of grape varieties
D. Ability of consumers to understand a wine's qualitics

confronted with “Brazillian upstarts”

eacon sl

18. Which one of the following, if true, would provide most support for Dr.

Renaud's findings about the effect of tannins?
A. A survey showed that film celebrities based in France have a low
incidence of coronary heart discase

B. Measurements carried out in southern France showed red wine

drinkers had significantly higher levels of coronary heart incidence

than white wine drinkers did.

C. Data showed a positive agsociation between sales of red wine and.
incidence of coronary heart disease

D. Long-term survey in southern France showed that the incidence of
coronary heart discase was significantly lower in red wine drink
than in those who did not drink red wine
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knowledge about wine. e

€. Consumers are able to appreciate better quality wines. i —
D. Some non-English speaking countries like Brazil indicate grape

variety names on their labels.

Directions - In the following question, a sentence is divided into four parts,
Labelled (1), (IT), (1TI) and (IV). From among the labelled parts select the one
- that has an error.

20. Threats of extortion have made (I)/ the city's good and rich (IT)/ panicky and

he is struggling to (111)/ ensure the safety of their loved ones. (1V)

A B

D: IV
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parts, labelled (a), (b) and (¢). From among the labelled parts, select the one

tlut has an error. If there is no error in the statement, mark option (d), i 2

22.  After the Colonel was done with his routine inspection, (a)/ the privates
stood at case, (b)/ though the sun scorched their faces (¢). No error (d).
A. a B. b

& UG b
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wose the word which is most nearly the same

Gratify
A.  Satisfy . Disappoint

C. Restrain . Supply
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B. Murmur

D. Quiet

"The battle ended in victory for the royal imperial troops." says the laconic

report of success. “a

A. verbose . aphoristic

€.  succinct . lengthy
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Rain or shine

A.  Whatever the circumstances 4 *
B.  Live in poverty |
C.  Behave moodily
D

Relax oneself

31. Going Dutch
A. Behave like a Dutchman B. Drink Jots of wine

C. Dress elegantly D. Pay for your share

32. Play it by ear

A. Follow the instructions thoroughly

Say something that is emotional and sweet

B
C. Play music by remembering the sound rather than reading notes
D. Behave whimsically
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There is so much love .............. ....the two of them.

I have not seen Aditi.

| iii. I started my exam preparation ........... .January.
E
(s iv.  The three sisters did not look for new friend as they were quite happy
playing ......... themselves,
v. 1 have not seen Mohan .................... six months.
A. between, from, since, among, for g
| ‘B. among. from, for, between, since ]
C. among. since, for, between, from

between, since. from, among, for




A. by virtue of, by dint of, in case of, in
B. by dint of, by virtue of, in consequence of, in case of -
C. by virtue of, in consequence of, by dint of, in case of

D. by dint of, in consequence of, by virtue of, in case of
Directions - The following questions are independent of each other.

36. Pick the word with the correct spelling,

A. Acqueisence B. Acquiescence

C. Acaueiscence D.  Acquescience
=
b [21) |
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irections - The poem given below is followed by five |

3L i

best answer to each question.

A s you set out for Ithaka

hope the journey is a long one,

full of adventure, full of discovery.

Laistrygonians and Cyclops.

) angry Poseidon - don't be afraid of them :

| you'll never find things like that on your way
as long as you keep your thoughts raised high,
as long as a rare excitement

¥ stirs your spirit and your body.

Laistrygonians and Cyclops,

wild Poseidon - you won't encounter them

122]
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Wy there be many a s
witt hy ﬂatplem whatjoy,

- you come into harbours seen for the first time:

- may you stop at Phoenician trading stations
=

mother of pearl and coral, amber and cbony.
sensual perfume of every kind

- as many sensual perfumes as you can;
and may you visit many Egyptian cities
1o gather stores of knowledge from their scholars.
Keep Ithaka always in you r mind,
Arriving there is what you are destined for.
_ But do not hurry the journey at all.
Better if it lasts for years,

50 you are old by the time you reach the island,
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- Ithaka won't have fooled you.

e

: Wﬁgasyou will have become,
so full of experience,

yvou will have understood by then what these Ithakas mean.

38. Which of the following best reflects the central theme of this poem?

A. Ifyou don't have high expectations, you will not be disappointed.
B Don’t rush to your goal: the journey is what enriches you,
The longer the journey the greater the experiences you gather.

You cannot reach Ithaka without visiting Egyptian ports.
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~ 40 In the poem, Ithaka is a symbol of
A.  the divine mother B.  your inner self

C.  the path to wisdom D. life’s distant goal

41. What does the poet mean by 'Laistrygonians' and 'Cyclops'?

A. Creatures which, along with Poseidon, one finds during a journey
B. Mythological characters that one should not be afraid of.

; C. Intra-personal obstacles that hinder one's journey
D. Problems that one has to face to derive the most from one's journey

125]
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- In each of the following question, a word is used in four diff

ways. Choose the option in which the usage of the word is INCORREC’
INAPPROPRIATE

CO BN

A.  The new born baby was a bundle of joy for the family.

Bundle

Mobile operators are offering a bundle of additional benefits.

B
C. He made a bundle in the share market.

D. It was sheet luck that brought a bundle of boy-scouts to where | was
lying wounded

Distinct

A. He is distinct about what is right and what is wrong.

B.  Mars became distinct on the horizon in the months of August.
The distinct strains of Ravi's violin could be heard above the gencrai (

din.

Ghoshbabu’s is a distinct case of water rising above its own level,
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Several members of the audience missed the implication of the

minister's promise. o

Death, by implication, is the only solution the poem offers the reader..

46. Host
A. Ifyou host the party, who will foot the bill?
B. Kerala's forests are host to a range of snakes.
C. Ranchi will play the host to the next national film festival,

D. A virus has infected the host computer.
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'D.  Let's sort these boys into four groups.

Directions - Data is provided followed by two statements - | and

| =

g in a value, say | and I1. Evaluate these values for each of th

following questions separately.

48. Nineteen year from now Jackson will be 3 times as old as Joseph is now.
Johnson is three years vounger than Jaekson.
I Johnson's age now
I1. Joseph's age now
A. 1>11 I (2

1=11 D.  Nothing can be said
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1>11 B. 1<l

=1 D. Nothing can be said

heacon 1 el

The probability of encountering 54 Sundays in a leap year
The probability of encountering 53 Sundays in a non-leap year

=11 B. I<ll

[ D.  Nothing can be said

Directions - Read the information below and answer the quesi

follow.
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Whatwas the worth of the total property?

A.  Rs. 30 lakh B. Rs. 8 lakh

C.  Rs. 18 lakh D. Rs.24 lakh

What was Carl's original share?

A. Rs. 4 lakh B. Rs. 12 lakh

C. Rs. 6 lakh D. Rs. 5 lakh

What was the ratio of the property owned by the widows of the three sons,
mn the end?
A. 7:9:13 B. R8:10:15

Lo S L D. 9:12:13




55.  {(I#M2) - (10" Vieg, 0.1)1(1V2)=
A. 38 B. 4log0.1/8

C. (4+107%)/8 D. None of these

XH#-Y
-XVY

s6.

) = 3/8, then which of the following must be true?

A, X=2,Y=I B. X>0,Y<0O
C. X, Y both positive D. X, Y both negative
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'37. 1f a ration shop is to be set up within 2 km of each city, how many 1
shops will be required?

IT a ration shop is to be set up within 3 km of each city, how many ration
shops will be required?
AL 2

G, 4
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Choose 3. if both statement I and statement I1 are needed to answer the question.

Choose 4. if the question cannot be answered even with the help of both the

statements.

60, Ifx,y and z are real numbers, is z - X even or odd?
xyz is odd.
xy + yz + zx is even.

|

Choose 2. if the question can be answered with the help of statement 11, alone. .




The LCM of x and 18 is 36.
The HCF of x and 18 is 2.
]

2

3 D. 4

Directions - The following questions are independent of each other.

63. What is the total number of ways to reach A to B in the network given?
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Rajiv reaches city B from city A in 4 hours driving at speedofss “’ = r
the first two hour and at 45 kmph for the next two hours. Aditi follows the
same route, but drives at three different speeds: 30, 40 and 50 km ph,

¥

covering an equal distance in each speed segment. The two cars are similar
with petrol consumption characteristics (km per litre) shown in the figure

below,
4
Mivage
e g Wie 24
0 “ su o7

Speed b sac dow
The quantity of petrol consumed by Aditi for the journey in liters is -
A, 83 B. 86
C. 89 D. 92

1351
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10N2 sq units B. 35V2sq units

30 sq units D. None of these

68. Two fair six-faced dice A and B be thrown simultaneously. If El is the

events that dic A shows up four, E2 is the cvent that die B shows up two

1 i and E3 is the event that the sum of numbers on both dice is odd, then which
of the following statements is N OT true?
A. El E2 and 3 are independent

t, B. Eland E2 are independent

C. E2and 23 are independent

D. Eland E3 are independent



speed At a certain point A on the path, he observes that the angle «
elevation of the top of the pillar is 30°. After walking for 10 minutes MAf ‘!
in the same direction, at a point B, he observes that the angle of elevation of
the top of the pillar is 60°. Then the time taken (in minutes) by him, form B

to reach the pillar, is - A (&

A S B. 6 o L5

¢ N2 D. =2 G

If a E R and the equation - 3(x-/x]) * +2 (x-/x]) + a® = 0; where [x] denotes
the greatest integer x has no integral solution, then all possible Vﬂu&so’tg

lie in the interval -

A, (-LO)U(0, D B. (1,2)

C. (2,1 . (o0, -2)U 2,®)




: ofthewordSMALL is -
A 587 B. 59"
Gy 46" D 4™

A bird is sitting on the top of vertical pole 20 m high and its elevation from
a point O on the ground is 45". It flies off horizontally straight away from

the point O. After one second, the elevation of the bird from O is reduced to
30'. Then the speed (in m/s) of the bird is:

A, 40(V2-1) B.  40(V3-v2)

C. 20V2 D.  20(v3-1)

75. A right circular cone of height h is cut by a plane parallel to the base and at a
distance h/3 from the base, and then the volumes of the resulting cone am!
frustum are in the ratio-

B. 8:19

1:7
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B.

D. Non e of these

Consider two different cloth-cutting processes. In the first one, n circt

cloth pieces are cut from a square cloth piece of side 'a' in the following
steps: the original square of side 'a’' is divided into n smaller squares, not
necessarily of the same size; then a circle of maximum possible area is cut
from each of the smaller squares. In the second process, only one circle of
maximum possible area is cut from the square of side 'a' and the process
ends there. The cloth pieces remaining after cutting the circles are scrapped
in both the processes. The ratio of the total area of scrap cloth generated m
the former to that in the later is-
V2-1

An-m)
n(4-n




ng machine is used to punch a circular hole of diameter two u nits

from a square sheet of aluminum of width 2 units, as shown below. The

hole is punched such that circular hole touches one corner P of the square

sheet and the diameter of the hole originating at P is in line with a diagonal

of the square. The proportion of the sheet area that remains after punching




Let C be a circle with centre P, and AB be a diameter of C. Suppose Pjis the

mid-point of the line segment PyB, P;is the mid-point of the line segment
P B and so on. Let C), C,, C; ... be circles with diameters Py Py, PPy, Py Ps

... respectively. Suppose the circles C), €5, Cy... are all shaded. The ratio of
the area of the unshaded portion of C to that of the original circle C is -

A, 8:9 B. 9:10

D. 11:12
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84. The figure below shows two concentric circles with centre O. PQRS is a

square inscribed in the outer circle. It also circumscribes the inner circle,

-

touching it at points B, C. D and A. What is the ratio of the perimeter of the

outer circle to that of polygon ABCD?
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88
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Complete the serics 2.6, 12. 20, 30, 42.....7

50 52
54

In a kilometer race, if X gives Y 30 m start, X wins by 20 seconds but if X 'g,
gives Y 30 seconds start, Y wins by 20 m. find the speed of Y. Lf
X 405 B. 475 _
e 1415 D.  4.00

There are 190 chairs they are to be arranged in rectangular manner. Initially,
when the chairs are arranged 5 more chairs are needed. When number of
rows is increased by 2, 35 more chairs are needed then how many rows
were there initially?

7, SO




90. “m‘lﬂ‘ the five points comprising of the vertices of a square and

‘intersection points of its diagonals. How many triangles can be fm
‘using these points?
X 3

C.

91. If a square sheet is converted into a cylinder by rolling it along its side, what
i$ the ratio of the base radius to the side of the square?
A. 12n B. Il/=n

G 2/x D. V4xn
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‘what is the minimum duration required for producing 9000 pairs of nuts and
- bolts?

1 J ]

‘A. 130 minutes B. 135 minutes

C. 170 minutes D. 180 minutes

93. A father and his son arc waiting at a bus stop in the evening. There is a
lamp post behind them. The lamp post, the father and his son stand on the
same straight line. The father observes that the shadows of his head and his
son's head are incident at the same point on the ground. If the heights of the
lamp post, the father and his son are 6 metres, 1.8 metres and 0.9 metres
respectively, and the father is standing 2.1metres away from the post, then

How far (in metres) is the son standing from his father?

(A, 09 B. 075
0.45

D.
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,.‘.-.-;m.-b.-<c;-a:w~'or. sresent numbers 2, 4, 5, 6 and 10.

3ﬁ@ﬁmmmmnmmMman
i. at+c=e
b-d=d
et+a=b
b=4,d=2

b=6,¢=2

Let n be the number of different 5-digit numbers, divisible by 4 with the
digits 1, 2, 3, 4, 5 and 6, no digit being repeated in the numbers. What is the
value of n?

144
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99. A jogging park has two identical circular tracks touching each other Maul
rectangular track enclosing the two circles. The edges of the rectangles are
tangential to the circles. Two friends, A and B, start jogging simuhaneousjyﬂ
from the point where one of the circular tracks touches the smaller side of

the rectangular track. A4 jogs along the rectangular track, while B jogs along

the two circular tracks in a figure of cight. Approximately, how much faster

starting point?
A.  3.88% B. 4.22%
C. 4.44% D. 4.72%

147]



This is probably one of the reasons why the number of women and

men remain roughly equal in most societies.

b.  Fortunately, or unfortunately, individual couples cannot really be
. concerned about this overall 'error’.
¢.  Population growth then can be considered the error of this central
process.

d.  Purely at the human level, it appears that most couples like to have at

4
PO P g R —

least one living daughter and one living son when they are in the

W gy e——

middle ages.

A. cbda B.

C, dcha D.

48]
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nce in the ‘golden years’ between 1986 -

1990 - 91, during which time exports in dollar terms. W:-

Trtpereent e il

In fact, the rate of growth would have to increase still further if we are
to achicve the eighth plan target of export growth in value terms of

13.6 percent per annum,

Even in 1990 - 91, the year of the Gulf War, expons went up by 9

percent.

bdac




It is extremely difficult to curtail them.

‘cdab B. beda b

" a. It was never denied and seemed to be integrated into the city life.

b.  The poverty was there right in the open i n all the streets.

c: But, somehow it did not depress me as much as 1 had feared.

d. Indian society is associated with great poverty, and indeed I saw a lot
18

of poverty in Mumbai.

adbe
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¢.  But writers of novels, plays, Shorts:mapoems ,;

hurt or hampered much .

d. Journalists and teachers are often bullied or fired in mycomﬁy or
K-
saving this or that.

A. dcba B. beda

D abed D. dcab

Directions - Read the information below and answer the questions that

follow. ]

oo
The seven basic symbols in a certain numeral system and their respective values

‘are as follows: [ =1, V=5.X= 10. L. = 50, C = 100, D = 500, and M = 1000 In

eral, the symbols in the numeral system are read from left to right atantis



_Forvexample.)ﬂ‘Vl-(SO 10) + 5 + 1= 46.

I l- N
105. The value of the numeral M DCCLXXXVII is

A.

1687 B. 1787

e

1887 D. 1987

106. The value of the numeral MCMXCIX i s
A. 1999 B. 1899

€. 1989 D. 1889

107. Which of the following can represent the numeral for 19959

(a) MCMLXXYV (b) MCMXCV
(c) MVD (d) MVM
A. only (a)and (b) B.  only (c) and (d)

C. only (b) and (d) D. only(d)




A.  Serum: Fume B.  Humid: Arid

C.  Thaw: Distil D. Smoke: Cloud
s el |
109. Fission: Fusion ks 1
g A. implosion: Explosion B.  Separation: Combination '.
C. Intrusion: Extrusion D. Enemy: Friend )

110. Doubt: Faith
A. Atheist: Religion BB.  Sceotic: Pious

C. lconoclast: Idol D.  Apostate: State

111, Brick: Building

A.  Word: Dictionary B. Alphabet: Letter

C.  Platoon: Soldier D. Idiom: Language

1531




B.  Assail: Defend

: Treatment D.  Death: Rebirth

PR R S AL T
P e S T
W

114. Malapropism: Words

13 A. Anachronism: Time B. Ellipsis: Sentence

C.  Jinjanthropism: Apes D. Catechism: Religion

115. Anterior: Posterior
: A. In: Out B. Too: Bottom

C. Head: fail Front: Rear
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not always a bad th ing‘ 18, but that it is the m onopol list who has

.

B

< 1, N
ORI A

power to decide who is charged what price.

1. The main problem with the notion of price discrimination is not that it

-y is always a bad thing; it is the monopolist who has the power to |

decide who is charged what price.

y 14 ' |

1I.  The main problem with the notion of price discrimination is not that it

is always a bad thing. but that it is the monopolist who has the power
l to decide who is charged what price.

| . [V. The main problem with the notion of price discrimination is not it is
" always a bad thing, but that it is the monopolist who has the power to
decide who is charged what price.

A | B. 1 g

G D.



COsts are

and politicians, and are artificially escalated with a large number of

devices and black money is generated through underhand deals.

A symbiotic relationship develops among contractors, bureaucracy
{ and the politicians, and by a large number of devices costs are
" artificially escalated and black money is generated on underhand
deals.

- IV. A symbiotic relationship develops among the contractors,
bureaucracy and politicians, and by large number of devices costs are
artificially escalated and black money is generated by und -.,-x;';'

deals.

MS5 SET - B




create a difference of prices at which goods are traded with the world
market and their prices in the local market.
The distinctive feature of tariffs and export subsidies is that mey

create a difference between prices at which goods are traded on the

ol world market and their prices within a local market.

< IV. The distinctive feature of tariffs and export subsidies that they create a ‘i
; : difference across prices at which goods are traded with the world
market and their prices within a local market

A. | B. 1l

C. D. IV
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t to reduce the systemic risk inherent in
‘ r
markets will also reduce the risks that private o Derators

G oy

perceive and thereby encourage excessive gambling. 1

Any action by government to reduce the systemic risk inherent due to

financial markets will also reduce that risks that private operators
perceive and thereby encourages excessive hedging.

Any action of government to reduce the systemic risk inherent to

financial markets will also reduce the risks that private operators

perceive and thereby encourage excessive gambling.

A, | B. 1l

C. D. 1V
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0 “wlapﬁoemd costs of the company over the ne

: 2014-15 | 2015-16 | 2016-17 | 2017
roduction (units) 14000 | 18000 | 20000 | 17000
es (units) 12000 17000 16000 19000 |
(Rs. per unit) 10000 11000 11000 11000
Fixed cost (million Rs) 18 | 30 30 0 |
[Total Vaniable cost (million Rs) 84 | 122 141 161

120. The end of which year was the quantity of cumulative unsold stock

A. 2014-15 B. 2015-16
C. 2016-17 D. None of the above

121. The percentage increase in cumulative cash in hand over the preceding i
was the highest in
A.  2014-15 B. 2015-16

C. 2016-17 D.  2017-18

159]




If the company was able 1o sell all the units that it produced during a year ! ..

the same year, the cash in hand (in million Rs.) at the end of 2018-19 would

4

be

A.

"

e

] E‘.Vf#‘m#éh.‘.‘f-_.ng.'\‘-.-.-..-...A. S
A -




‘Pata on edible oil production and consumption for the year 2019-20 across six

Countries are tabulated below:

W

126. Assuming none of the above five countries export edible oil, which country

Country Annual Approx. Annual edible | Projected Projected Projected
edible oil | population oil Annual Annual Annual

production (million) consumption edible ol population edible oil |

(billion Per-capita Production | growth rate | consumption

lters) (Hters) growth rate Y% growth rate

| E= % _perca :
I 12 1000 12 10 2 5
] 7 500 13 5 5 6
K 5 300 11 5 4 7
L 10 1200 10 10 1 1
M 9 700 14 5 4 6

would need to import the maximum quantity of edible oil i n 2020-212

3.

D.

None of these
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AT

g none of the above five countries exported or imported edible oil,

T & '
¥ IN '
R S e AT o

next year.
A.

) 13
L -

| B: A3

C. K D. None of these
| - o
| 129. The net import requirement of edible oil (in million litres} for all the five
countries put together in the year 2020 -21 is closest to- |

A. 450 B. 550
C. 650 D. 750 4

A

i
m ll ; m -
| N

130. Which country would have the highest annual consumption of edible oil
liters per capita in the year 2021-227

A. 1 B. K
D, M
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Directions - Answer the questions that follow after the graph. -

250 +4-
225
200
1735 1 -

150 & —

V4

-

AR RN

|

!

125 + . - | —

B A

.}9\' ‘;9\ ,\9". ..LcF‘ X .L@b m@q '\.§ .\‘éh ,\9\0.\9\\

NESsS

l EZAimpoit  ==tapoe

132. Approximately by what percentage are the total Exports greater/ sma s
than the total imports for the given period?
A.  Greater by 9 percent B.  Smaller by 10 percent

C.  Smaller by 9 percent D.  Greater by 10 percent




. -~

4. In which year was the ffth largest annual percentage increase in export

v
h
0

1
-
L =

B. 2009

D. None of these

135, Which year saw the second largest annual percentage increase in imports?
A. 2010 B. 2005

£: 2006 D). None of these

[64] .
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Directions - Study the following pie-charts regarding o sa

cars for the years 2019 and 2020, and answer the question [ha

| 2019

25N

137, If the 2019 sales for all car models is 80,000 and these have .
i 2020. then what is the approximate increase in the number

sold in 2020 over 20197

C. 4500 D‘ Nlme Ofthe ab/é.\
165] _,
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- ' = Using the tables and graphs below, answer the quest

CORTRIRE AN

A departmental store reported the following sales data (in million Rs.) for a
particular week.

Day
Products Apparel Apparel

Monday 0.18 0.12 0.61 0.42 0.72 0.86
Tuesday 0.16 014 0.72 038 0.56 0.68
Wednesday 0.22 0.21 0.86 0.46 0.68 0.76
Thursday 0.28 0.16 0.68 0.54 0.58 0.82
Friday 0.29 0.32 0.88 0.61 0.42 0.54
Saturday 0.33 0.42 1.10 0.92 0.88 0.36
‘Sunday 0.38 0.58 122 1.42 1.46 1.42

The Average Value of a Transaction (AV" I) in Rs. and the Time Taken

e r’l

Transaction (T,T) in seconds is given in the figure below:




g

ns one salesperson in a section for-everx‘tdﬁﬁi;.
b

139. The section reporting the highest transaction time on Sunday is
A. Grocery B. Confectionary

' C. Personal Products D. None of the above

1140. The section with the highest number of transactions on Sunday is
A. Grocery B. Confectionary

C. Personal Products D. None of the above

~ 141. The total sales of all the sections put together is the same on

' , A. Monday and Tuesday B. Tuesday and Wednesday

C.  Wednesday and Thursday .  Thursday and Friday

[67] !
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- 143. The section requiring the maximum number of sales persons on Saturday is.
R R As Grocery B.  Confectionary

C.  Personal Products D.  None of the above

a

144. The ratio of salespersons required in the Appliances section on Monday;;

the salespersons requ ired in the same section on Sunday is approximately
|

A.  1:0.50 B. 13145
G 1:1.65 D. 1:1.95

Directions - The following table gives the national income and

he
population of a country for the years 2013-14 to 2018-19. For each of the

question following the table choose the best alternative.

Year National Income (in Rs. Crore) Population (in crore) |

2013-14 229,225 7480 i
2014-15 261,174 750
4 2015-16 291,556 770
[ 2016-17 320,934 785
- 2017-18 388,539 80.0
2018-19 433,500 815

"I:-V 4
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- The per capita income is highest for the year:
A, 2014415 B.  2015-16
€. 2016-17 D.  2018-19

1
147, The difference between the percentage increase in per capita income and:

percentage increase in the population compared to the pre
highest for the year:

| A.  2014-15 B. 2015-16
C. 2016-17 D.  2018-19

148. The rate of increase in population was lowest in the year:
A, 2014- 15 B. 2015-16
G. 2016-17 . None of these

149, Increase in the per-capita income compared to the previous year &
years given below was highest for the year:
A.  2014-15 B. 2015-16
C. 2016-17 D, 2018-19

[69] e
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| 151. Cloud computing means-

5 A.  Carbon transfers on commodity exchanges

! B. Computing under disaster conditions

C.  Use of computing resources which are available in a remote la t
and accessible over a network

D. None of these

152. A computer virusisa

A. operating system B.  hash function

C. program D.  packet
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* 10 Income Tax Act, 1961, advance tax paymen
for companies. This is-
A.

True B. Sometimes true

C. False D.  Cannot Say
155. Repo rate is the rate used by central banks -

A.  Toimprove the risk profile of the banks

B. To enhance speedy collection of taxes

C. To control inflationary situations

D. To minimize inequalities of income in the country

156. Angel investors are considered to be the opposite of -

A. Arbitrageurs B.  Venture cag

C. Hedge funds D.  Global inves L |

TR
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D. Consolidation of finan

- )
[ 2

a

I
I58. Special purpose vehicle is -

| A.  Nationwide financial inclusion programme launched by RBI

B.  Remedial measure in the credit provisioning problem
C.  Cross border financing mechanism
D. None of these .

hiacon 1 el

159. As per the deposit insurance scheme, each depositor in a bank is insured

to a maximum of for both principal and interest amount héld*lj#

him/her in the same right and same capacity as on the date of liquidation or

the cancellation of bank's license or the date on which the banks get

»
-y A

amalgamated or merged with another bank.

A. T lakh B. 2 lakh

C. 35 lakh D. 39 lakh

MSSSET-B
LSS
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61. The current base year for GDP measurement is-

A.  2009-10 B. 2011-12
C. 2012-13 D. 2016-17

162. The proposed bad bank in India refers to -

A. National Capital Management Company Ltd. (NCMCL)
B. National Bank Revival Corporation Ltd. (NBRCL)
C. National Asset Reconstruction Company Ltd. (NARCL)

D. National Asset Management Company Ltd. (NAMCL)

173
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mic Partnership (RCEP)?

It is a Free Trade Agreement of 16 countries of Asia Pacific Region

N

B.  Member states account for a population of 3.4 billion people with a

total Gross Domestic Product (GDP) of $49.5 trillion (at PPP).

i C. RCEP potentially includes more than 3 billion people or 45% of the'
world's population
Combined GDP of negotiating member states is about $21.3

accounting for about 40 percent of world trade




< T A
3 A d i
ot trnduictrial develon
1Asier 1NnaAausiial B YEOIOU
A5 A

It aims to substitute the imports of India

It focuses on the twenty-five sectors of the cconomy for faster

! economic growth, export promotion and employment generation

166. The Economic Survey 2019 has proposed a change in the Beti Bachao Beti
Padhao (BBBP) scheme. The campaign, to be labeled will be used
to represent the change towards gender equality.

A. Bahaar B. Betiya .

C. Badlav D. Bandhan
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168. The Reserve Bank of India has joined the Central Banks and Supervisol

‘Network for Greening the Financial System (NGFS) ' as a member. Where

is the Secretariat of NGFS located?

A. Paris B. Geneva

C. Rome D. London

169. The 'Prime Global Cities Index Q | 2021' report is published by Whicl'!,'

entity?
A. KPMG Global B. Knight Frank
C. REITs D. Cushman and Wakefield

[76]
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All of above




